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Ulse tlie following inge
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neury of 1he squaie reots shawn above hava § valas Lt is Aeneecn 7.8
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S8 Ine Jolewing inforiialion (o answer quesiin 2.
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The 2D shiaps stown below 5 rotated about its centre,

2. What ae the wder of ratational Syounetry anc he angle of muation of the 2.D shape?
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] tive the Jolloning infornatios: to aaseer guestion 3.

e S L e |

! Two sualents, Rober. and lzonl, sinphify the: expression 3¢ + £ - 13 = (22 + 30, e shivwn
byl sz, 3 =
.22 ¢ c« ST Nl cafife
Robert / / i Jacob,

------ T - i ———b - - St Ll |

] R ¥ /-"‘-0——
$00p) | 430 4 126 3L B a5y A ¥ Sy 1
Sf'.a.l-,a-\f..:gj_f_l ....... |23 4 120 D205 | |

| Step2 4 - '%.r-l-l'?r-‘»-’\-&* '%x-o-'l«\ f-2x-5 ! ‘

L-. PR .

- ——————— v o

Step 3 =t 4 i 2 e P

e —— - ——— - - — - ——

3. The first ereer madz in 2 simpiification of the expressivn shown above wis made by
T e b P DRI
A. Robertin Step | = :‘,_ —5 g {“’ 75’
g ® o '2/7'.9 ' uX_}) .cx....) ;‘2}/__3 A
B, Jucchin Swep | 60 '_1 ?%éwg;l
€. Ruher in Step 2 4 'fflc.-v (i LR (‘p s

D, Jeennin Step 2 Fr cob Serdd Il 244X ~) ¥ 3/ #1250~
--------.-g.-_..-- SO {_,cl/{f(r{, S /JOT fepd

tixe o following infor nsation o enswer gaeszion 4,

A Snare cazpel covers 3385 el the flaor areu of a IRCLDIEW:ES ravnn, us shown belaw,

L Bsy e L OF 2% = 9 = Vez 4

G Zon o gy 5 .- % .
4 J N ig’
. 14 B e oeq !
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98 672 = . I
4. Whar s the side lonati ¢ the carpet diown anow? [\1 e% :€ - 3
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Use the following informiation v answer gquestion S,

~SRE SRS, ' l SR B
AL nequelity is shovn en each number fine kelow, | N <

- i~

1}
]

S.  Which cxpression reoresenis the -.'a:ueﬁ (n) dial are par of Soth ineguatiies?

2TV [
-

L ) \

I I ey
A -lsn =N TR el W
=1 ==
2023 ~|

.( ot
fShme | R0
N vy

Use the falloving diageam to enswer nussanical- response Question 2.
f——---- - - —— — ' - —

B ——— e —— Gy ——————

Numerical Response

How many lines of syunnetry docs *he di garun shown above havs?
'l
s

Amswer: _ 3 lines

(Recerd vour answan i e numesical-cesgonse woeling nn F16 aiswed shees)
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Ule the Saltoveivg wftrmation to answer queston 7

A dracner pliveil g cal2iarta coupt in omly ane of thiez differenuiy coloured cvelopes.
A rezdomly sesceredd stadent was axked 16 cloose one of the shree -*n-::lupcs The stadent
chose the rad cavelops because ced was bis favouris salonr,

- -

- - - —————

7. The sudent's decicion was hased py
y
@ suhjective jllllt.") oot x.} L_) +# aolfen T éaéd ‘. fl;‘ L. o ™
1 . £ T 3
B. thecretical areoebility /&ﬁ"/ o ;'-‘/ e ".)
C.  experimental pechuliliny 4
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Lise the faliowing 'n_,"anramm SO LNINWRY Quasion 8,

D ke diagrem below, xrepresents die spproximate distance sarass a sircular leke.
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Lise e follewing formaian o answer gaesion ¥,

s el S A
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The Iet and right sides o7 an caustion ace representz:l halow,

9}"-“0 N o

e —————— - B ——————————

:_ . Baniside Rewin side

. IR "l_l
_D

-

L | ;u:‘l,. . ugda
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Lse the following informution i answer rimeric ae-:npmuc queston 4.

D -

The diagrnn stown below is  squue uml a5 3 perimeinr af 3 oo

H"‘l. -
LA Wer O

‘.. = !g .6"\ “ L
;F‘:}%}‘v:&‘: \.« l \
{5}- i ',\Mi“\\&.‘%*‘

n W har s e total arca of the whita rectangles and the black scoares?
WAL o 2

ﬂf\e AL

L Answers _

-p

n&.)

2 e @D
M::-

- (Rypeord ¥auc gnswes in B RUBCHCH-IEPCIse AICION Gnt e answ Shaet)
’
" (:h ats “d {%} =z
’ T | ey =
i g (¥ 2Za-24
it
R )
Jo d

&b

AR, < bx§
= !,U’{Ongj
- 0-5

/7

Are {pS )05 )
(D.235)



Lise the foilowing infomanion 1w cuswver quasiion i0.

Tre gung shows balow ix 30 an inhiameter uzd h:..,g‘ oy a chain o a seil.

Flic 2otal length of 132 chaiy s 18 em. The fengiig of cham oo ecch side of (2e nail sro

1 each arar ad tey, & 1ansent # (e £ong

Note: Tre diageam: shown abuve Ras get buen drawes o sewie.,

- - —— - - - — .

10, How far gbove the rop of the gang s e nail, e the searastienth of 4 centineme?

s I
€, 20cn '5 X = J (15)1’ + (5‘).2-
D, 105 oo \}

)&:{poﬁn.;&-l—/
18 4% & [225*' &Y

IS+ X< \,
54x= |5

L

X= [45=-15 - 4.
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(ise the following iformarion 1o anywer guesiion JF

T letter & in the diagram betow jepresents tie ceniae of the circle. ,‘
Benan 2400 anst. < AP e, w LAOE =2 1S a cellRad
. Felafed < avg e i
| 14 LN ,,l ) C/// *\“ (J
{ :‘ § : 2 ~ L n" A ;
l 4‘4687 = = ) AC/‘_‘.‘: :.".‘\~ "-'h P A AP \:-\‘ ,F‘{, .
P ‘ ! \ 0 ' ';;9 4. xen 3 |
- /A ) i Y x
(/.'f é &{: & Sl €Cé" = 2" t‘ \.. N '.l' = é_‘ I{ C_a "S a'h '1‘\ .o -. 'i r%‘.{
: 5\ "-' 4 / angle becouge U IS ¢ wef
\_\% f Q_S(K"‘ﬁ ‘7",(_: d,@r_uw-vl(r;)({.?r) 2.
4 B | 2850 arel £ An SR
P, I - ; Felated, (betd ¢ o
- Nofe: The disgram siewn above has not heea drawn 1o scals. LBorm & ancta s )

1L iTthe sum of ZA08 o ZACR (s 757, then .2ACE vquals
LAOD ¥ Lacgy = FE§

Al A" \,

: p — - O
& o 2. ZMB + A 3 TS L A= — o ST
C.. 2 LAch = Fa® =} g = T
B.

1 Chuckl. zaes ¢ Lacp = FS©
e

LAk +£4 Arp s IS
23(2 (.2-5) 25 = ;‘Sb o 1 2 C‘}\ZC’KS

Use 2he fallowing informaiion to ans Wi guestion 12,

Ninit and Sarah observe that 6 of iheir {0 feinale classiies, are shavter than 160 em. Nina
canclndles that of the 410 sardents i theiv school, 246 wre shortar than 150 cm. Sqrah
actieves Nina’s conclusion cenznt b supporisd hy her observation.

[ 3

[ ———

2. Whick of the foliowing siatemeats best supports Sarah's beliz?r W‘S
I I
@ INmw's survey semple containg anty female studeals.~—7 ﬁhy*ﬁ%‘md
B

Nina'z prohahility caleubiution i3 incirect, p CoeesacT CJC-‘-‘-OQ-W:Q o w,m;e_,‘_,
€. Nina did not uss a pruper questionnaire, e Yo 84 no J

: R -
D, Niny completed her survey o quickly.

}/ Wy Cam T il
AL

0 3 < immod. Fhagt eSSl as U
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) : o 2 PRy, )
. AL Sroclars  ase SHOERE. +Pan 1l cr.
3 e s 3
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(s dee felloming safirmation 10 wiswer anestion i3

The fellawing 3-0 abjec: is composed of wentical cahes, The voluine of the 3-0 object is :

26 cmr.
“Figurn wadl o 7 ., Vo : gc”"
Cetlod)

; Jhen oach, <A
Ve genatortt O s |
| Overlags | yhes & o N [-E:r?m
| Uotumn,t?( - o em .».-.-:-;.%«\;, ek
: B [T, soemho
Vo cetdag. £+ -2 m-—béau_, WM(?_,D(; CfC.M'Z'
Vi Yoy ﬁo
15 The suriacs aees of the 22D object above is W_ = éo <M%ﬂ9' s
I | J( \ =Y
A, 3ow (5) s) ()

B. lced Back Leg™
@ 1ed ng ié; =g 1ol 4 f‘*ﬂd
D. 1ddem’ (s) 5) (s) B 54598 +5+8
Sing , @ack 54;@145'&3"&,@«;&?@ & (= 50{62(.&0
N 30« T 2D,

' ) ' . .- o 1
W Whichof the following expressions e pessones the addition of 75 aud ¢ ?

V03 A . (
X i'-"f-?)‘”ﬁ'%ams tHhad™ cee f?q;.m»( o wT @‘if q“";ed’-
B 7+ TP ,
€ TxTe(ixTT
D, (TENX{T+5<7)

CAAaE 1

J

N

Li3) 0 (3 #=7)
‘ + 343 = 12

L

&

N
44



The srrave roots of two ralas

Lve N foifosing igjormarion o ansvsl gaesiion 13,

& numbers are represemred on the puisber line shawn beliw.

8= B _ o3 ,"Q: -‘2:—?*5.3 !
; Yoo kG N o A |
; - < ©- - E
' r R i
: )

LS. 3042 as lounted Detween points # snd R on the nuither fine shave, ther which of
the fotlowdng square rols canld et represent Q‘?
e I B e \; it i R
- h . o -’
SRS a I r"' Ly
]
fASE 33 s - Vﬁ‘ﬂ 29
B gt o '3- 38 . e ——=" T S%
> s 25 2. &3
v ol SR RN y L?‘ on
e R ™ N o Nownieas _ﬁx‘?:,u 287y Sx1 to
~ O apneis ﬁ.g, oy
- ey - & o~
d) 18 . 3. 3.5 > 2 2nd, BE.
W Vo3 2 TollRa s
Ve the following informarion o answer numerical-respoase question S
SR RN RGN BN AR e e
N L QC.bl‘l =

The rest of the huttons are olack.

o calesianon Bas 40 hattons, of which - g e whitz, g are grey, and 4 wre orung

Numerical Response

Hevar many black buttons does the caleulstar huve?
, !
Answer:

(lceuns your ansanr o e acerical-meiense s2etea on the answsr shasy )

HO x ‘fq = H-Q- 18 (ohiel H 'z%.c,’{. ~+hery !
3 \ &

Z‘fo XJ;. = ‘_*9 & fﬁggvj O - 22, = °©
& /T T s are

& g b
¥ Oranag, & e
Py -
22 Non- B facy [
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2 e fullavaing infurmation te gaswer gquestion 16,

| . '
| Aodiegram of wswimming pdol 15 snowes below. The doted circks seprezonts ficating buoys,
Fhe poul fey a diamster of i mewss.

 i5 the LhogTes]
- AisTrnee. T .éd‘?”-/

!

J:.?O vy !

= 5 M |

\

‘ .

] %d,‘as = X YAy
-

L]
2 » ) x= cadis —a

6. Tne shorest distance from the huoys 1o the edge of the pont s

A& m e find a  uee. T = JT{O_'

B. 2m o= \)‘CS éz, - VS .32' = \,‘I,TS"CI‘ =
C. 3m (R = g

D 4m Bur Snop X = f‘adu_)s - @, -then YT S - L= L m

I'sea, Jeonifer, ao:d Ming v derared soine meney 19 a chiacity:, Jennjfar donazed twics 58 nele

£5 T, anl Mindw donutad S10 Tess than Jenr .fn
|

-— - - - .-

17, IFrhe total amount Gonuesd 1o the ehacity is 330, “ies how mruch rrencey did Tacw imane?

A $6 (;L’nniger- « AT

é = findy = Zenayfer —\g = 2T~ 10
512
.D- &ig& LY
o
Checic. 6o= 2T (ZT 10)

ar rr-@) # T o e Y

(12) +<’1U'L) o) + 1 § 5o = 2‘1—4.2‘1-._\[94—']— "P%,ps
Q._,j{-[*‘f'f"lb 4’ ED = §T — 10

19 +\D =T =

. &t @ | o % | A

& g A



Uise e followig infsrmation to cnswer gusstion 18

- - - - —

-rafo e
AS-D ehpzet made of Zem x 2un x 2 em cubes is dinpad in pail o= m“‘r’j‘f
Unpainted Object Painted Object i !
' o only the “gorside’ |

TS @aRe \g\m:.m;:&.
\f}‘,,q;r s, e #;g'afz’%’

J'ﬁ'dac..d ‘are not

18, I¥the paratad abject is separated iate individoal cubes. then the el wras of the mapainted
surfaces wil] be

N A > (Z':Ej". .ﬂme'ufa =3 th:jw

B. 2z¢m’ (0 N e OUQYWC{/ ./C‘f --«.ﬁ
C. 32em” , Eadd, O/Q(_'L 'S @ - 4 em®

(m 48-:2111'.. :’ 4P amR

3 '2 . L? ("_"‘2-’
SIVERN it AN 8 <3

.

73

19, Which pair of cxpressions below ure squrvalent for allvalues of =2
. RATE. PLRESSiONS 2o et v

A. Rl 2 2andd’ -2+ | T ealiee T oenpwde
A A d? bzandd ey 42 A YxPax fiz ) NoT zguvaler T
Co 2=+ 3w uad =92 +35-2 q xzh.g( .

. 1
D, 2 4 ) Avsad 2r: 402 -2

8. yx* ~5>(+2...
IX%+ ~ax +2 -

C- wyxraxip
—y* +<3X{

. L %xm) > NaT
20 Afy? Q_be +2Z é_’gjﬁ-vam/(f

> E e JeND I'x'f ?1.1

7 - éf}"‘ Vel T

~)



{ive the fo.wx AngE ifosmalion fo ansasr grestion 20,
) i
R
g
The eapression !—- 3t e nt ) canbe seonplified w the focm &F,
n-

r..-.- g
|
|

- ——————— B e

A The walez of &ia tw}'ﬂana(_,

(nn)mnm(n.».u;ﬁ{n'p/gﬂ f_-_y./py()(/-n-n-n-n -nx A
£ ) /yy/p,/ AR fo W
@ v nm nq = '?' w JRe ape T N 1061‘}
x

C. 1

D, 1) Oa( )(-ﬂﬁ) (n™)

.- -

(059 (=) (n2) = (0 )P D (D -

(,.s" ihe Jodlewing wdonmasion i apsiver guaestion 2.

...... - e . s o . B —— e —————

i \lazha:- completed a3 xmorun an bis Best doy ol ieateing for 2 cross-c iy rave. e
l Snersused the 1 lesath ol his noxt Guining rns by 1.5 ki ezch ima.

21 Whivk of tae Rallowing squasions could be used 0 datereine the disignes 10 That Nadian:
fan on eact raining run (2" (
. . = K&’Y\ 4 Duf)
2 2.
od=145r b. s —= on
i‘ = “'q .Kn” == ﬁl—? -~ '3
s E Km i
S t=15-35 :
O #=35+L5 Cach, @, Runs an eXRas 1.5

So L& 5 parT ¥

8. 0% Kon 2- 6.5 km Hhe  eguaalic A

) ,og-\-r'“/'\
6:‘5 = 5xl' ;.;8_3{&‘ e

A, L)S‘l’ Run 25 5k 3!‘35\;“5 Ja-‘f
C&": 2 5(7’)” 5'575

C- /?._);\_2 ';é.stm
Gl MBrnd fodh &0 s)/gfzj

~S
b &8 )5 + ‘7N$po,g5,5h

LA
Ron 2 = 6.5 W C;Lmn i g
D, 5.5+ 16 2 65 e 65 \
4.5 3 (20-3) 2l 35 L (15)(s)

25 S e Bl )1( T Gheck’s
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Use the following infonmation to anseer guestion 22,

| The welatonship between lwe variables is given @ the eqgeetion 35+ [Sn=4.

22, Which of rhe fallowing simatons sould be feprzsenied nsing (w synadon ahove?

A.  The price of a caterer far & puty is $35 for each dinner ordered and §18 for each
desser ordesed.

B.  The 2] for lraming o painting is $35 for cach sqguwine metre of giass requived wad
$13 for the wonden frame.

C.  The fan for a compnter conzultant is $15 for an sdmiistration chat rge cod 835 for
ench naue warked.
(‘73./ The cust of silk scnccnvre adesigr on 1shints 3 815 for each shint created and
@ 553 deaign e .
iy 3"—.‘ r\s ""Aﬁ \—OAWWT w:‘\« (..K__, Fad’ 251 Ny l.’f
15 o a‘djz:n gon? o variadalo

Nuxterics) Response

/s
. Taz walue of xin the equudiun = R + 1=261is ':'_,

(Recond vous anower in 0y Aunnerival-7estonze sxelice an the answer shizan,)

= 24 mgand

so 25 g
O QA number dividb® Py S s os

[EPTL o |
N it 1 N 3 g DY
o v . e 1] -
uv-_ e 97 1 § — pray VI o —t s
[ 2
Y, :



Use the fofioving informarion to answer guestion 23.

W determine which of three animals shonld be the sehinol's neve rascot. Thae resnlie of

| The scident council of a senior high schoul surveyed 120 me 07250 Grade 10 sirdrots
' the survev arc shown halaw,

Student Resporses to Maseot Suryey !

Canzer

Beraz

'
|
et e T A Lk | YA e D Ay T R B
woit R RSN
”,

Yoy 4 20 &
Number of vales

'
——

23, Whaat patentiul bias exists in the dutz colleclion Tor this survey?

A& The sirvey question is canfusing. =2 W& do noT Knowy —the. Boeshan
B, The surves wolc o fong o complete, ¥ We ¢l neT Knowd S ol Sure,
@ The sae.ple does net represent the popolation.

D.  Tg pastcipants’ cuitural belicts were not considered. —7 T9n oes7 Sue. TAJ
15 elevend

s Fras & Adal .se,ﬁmf, S0 Thea ae STudbTs
i (j,ewfe.s S 1/ anel /2

- 043 ﬁ,@@&, /0 STolenTs AZe SURK yo cf
S Mo Lacke I Fnce. 120 wierze ng}/.'fz&)
Ho, cherneas 12 670«}/_2 . % PN
based  on ;f/?q,é, /OQ‘W doesr /107
RefRe conT e, oppirion & & Y Stoclorits



Ure the Jollewing Safovmation (6 arswer i ERPTCG-respense guesiion 7

| Tne squares of the prid helow vee identical, The arss of the sz squace o the grid

=9 Hnils” e itk 7]
S 2 5 3

-

T
:

3
3

»
o

S lenn :..".rff'g’ ---_Z‘»".-l".ﬁ__-. 6. B = [

- e —— -

Nomerical Response

48

The pevimetar of the grid shown sbove js 7 s,

LRCzini SOr answs 1 (e UMl - P Eeass secling an e sncars saged)

%&maﬁ?g_ BN Ay all Sides
(OUTE e émonaéz) )

E/&.z'/‘ﬂeﬂ'ale PN L TR ol o S A - JB o

ar

rlez @



24, The 1w dagranis shawe whove tial both represznt the insqeality o> 3 ave pumbered
G Teaann
B, TIand v
C. Nand 1
D. Nadiv

- — . -

25 Whisd vl ine liowing sots of powsrs s arranged in onier of ineeasing valus from iefl
> right!

'.2~ -—
O 2 -Zedtpap - 2 S 4 ;/ g =
B, (=22 4 1% =13 3% ("")'Zl' !/; -2 Y

y b

gl gt )

, .
Jnc%’ea,;,'/?c‘) £ 0rv) {.}’7’" 7@ é(fjt]
2 mells?T —= Wﬁpﬂ



Live the foiiow nug infaraiion fo avyver gaestion 26,

|

o =) ¢ |
I W‘:?.‘}i’ 3"51«_;* pe Jv‘,( & |
P ; ’
UL Arglas W

/. - -
- Sy
,\-‘iz;.'f/ LU i

,/
L\.
F 3

b-65"= 25 |

Note: The dia aran: st above has not. been deawn o seale. The letter £ represents the
v cenmof the cincle.

26, 15 he Gas shown above is s tan 2ral Lo Lhe cirels, then the measure of angle xis
e Sy, Y is '?bfgywﬂ: o
= 9o

Ao Q0

B. 115°

6574 L Mengle.

L TRaepncle. - 0%~ 65

25

‘(" P &CW = FRe gyeber ﬂ&&o&b S

-, ._{9 7S /?{QSQJ( m“y/& e s

-é’jqo-(’ g;'éé?ér
Then 3¢ = [BO - (25 r25D = 307

(fse it’u:,.'au'ust-rw tforaation 1o answer guestion 27,

Conznie buvs i horse tor 8750 ¢ including CeS¥). Stie considers the two pavment plans sliewen
beluwy.

PlanZ  Pay 5200 now und $55 26clt imonth

|
| {
! Plan 1 P&';- F150 naw and $25 cack maznth l
]

— e e e ————— - —

27, Haw inuny fower monthiy payments could Coneie make i she selcils PMan 29
3

AW “Phn 1 : 4750 - 4150 - Lo
& 14 )
C @ %‘g £ 2 {JTJJ ke 24 mm%)
D 24
. P $ 750 — b0 - $5850
580 _ 1o {iT Take /0 ’"""Tff)
55

Wb Mﬁﬁw f’ mmt‘f



Use e following infarmanion b envwes goestion 28,

. — e ——— -

The simplificuions of twe diffaren. expressions we szowm belows MisTakes !

Expression X Fxpression Y 7

| 14,3 N 4 2 p = 0 el . e - ~
(3r - 4% 0047 % (=3 M- 45X 3 a agi 9 2 =3im
: - / e s > oa's ~3 /\’; % " .2' e J < | & ,--:_.-&
ER G (el (T L L =24 =¥ x ] b B P =
73G ;/“‘)f;/'lﬂ s § 4 (=257% 3 et
o QUy. B ' =20 ! g
L A:+~~§:’ =250 % ‘2;{
=T 256 1 40047 =& (7S
e
| =N73 A = (7
! ,
28 Which of the *cllowing stnements aboni the sicipliiccians above is tue?

A, The simplifications of boh SYOUSSSICNS AN COMmenl,
B The smplieeations of dorh oxpressivzs are oo,
0 The staplines ian of Bxpresaion X is cermee. aad 1he sioplidication of Pxpress.on Y
i mcorreet,
D.  Thzzimplificaton of Fxorassion: Y s comest anid e stmiplincadarn of Expession X
IS ifcoreci.

Nibvetical Response

n Mo many whiole aumdars could sepresest g1z volue of ¥ m tha ngality slaenens
1= ; < 0,57

Answer: 5

__ whole nuwlneres

TRueceswl yovr g in e navchica-iespeass seciion 24 e crawer Gieet |

CL258 <« -;—? < C.5

SN : ;3. “ 0.5
X < ©,.25 ol

A< )2, 3< (05) X
Sz X 1S Yreatre Hag 3 X

o 0.5
» s Selloy +han
=, b &X

o S R e SO - MR 12
- N e

5 IR,

~Jd
=1



PF o s W0 Sl s el )
s mé.,,roi.uu-..v.g MUOCRITIGN J Qh ber Guethion 20,

e 5o e
{ i e
FSHz*ﬁ’

| . %2
!’D

———

i [.e“eml 'l

i |

‘L_J

~

-]
l-m/ 9 -/ | &N

e Tl

i
I
'
1

2 "hick
22, Which of the folipws “ing pelynomial exprzseions conld be added i ibe SXPIESSILN Show
abowes 1 "eSIL IR B SUIN Lhit cobluing only & congsant mery

A 1%4 Sy —

B. 1,. + Ry
Q) —yFigpla
1 —dy’ - 8

N S
4 i) 4\\- X = :3’*3—’ ;

s Viake, 52,,& {225@5‘ o =Skel
Aprer ggce PairS | e, e

%cOL FhRT ConfT2ins
ey

xS

.)L: R

238




Lise the jollenving inforvntion v asswer awesiion 3o,

]
'

“
'
'

-
|

as
1

_ O R
' . B _i B !
| 7T e g P e
! '
: G- - -} l--x-*l.-ﬁ-.. ).-’.":--
' | i | ] | H /' ]
| sl odedois ]k |
‘ X ur et /l_ !
5 e -f:,/ P | b
AP
A L5 < ! '
v [Ty=d =y ' |
| i i . TR SR U I
H [ |
! n o Ll g | [P S I !
) 2 e G G S R R NG i SR |
I

30 The line crealed by she ralation y=35 - £ will “nierscet <he line shown on the eiuph
fhove at

Al

" %

[ . '.f:) |' ‘f

[0

5

12:3) [

5 ”) .‘—\“"b @D

by
{j‘xotf
N e e—t
Ao N 4 27z 4= 3 \ -
A The vale of b the equaron 2 1 51— 172 =50 iy X LZeTE - =

Az: 21 Rlxv3)—12 = B p'lf":”f_)"ll c
@ 26 —— 62 =12 = &b
C. 3 ¥ it checks |

D. 36 G rismbog %Q]‘ thoq 2 15

CACHHED ooy & \ Ceahon Luday aé’.fun@,s ‘SO

p Sty
e i b =3 . =0

ZX+10 =2 = SO ey =
o L St TR 7 20 ZCX*S)
Ax » DO +2 2 :
e X >0 = &l

x = 22 lelxhao To he, S&J

o L')QW)C&USSQJ
m g%xlzzf

— = 24

£ \r“‘v—wx
o X v g
u—o-k__-«_..._,-)



Lise e Jullowing informaiion io answer guesiion 52,

The e Xs shewa en the map balow represent the locativns of twe commumnes in Aiberts.
Vhe distance detweea the {wo communitiss 3 T 0D ko,

P s Albcrl:_-___ L sy
| .' |
| | | g
! x| |
! l b :
) “ 'u !
i i
i | | l .
‘I [ra) ) l ll ;
l i .4’{: & | A '
| i P !
! j i
| ] ! I
] | | f
L f ' :
:'s:_’ ..l ' :
't_,,\ { |
b t |
pER ! ' i
T4 f ,
-,{'\ .| ' .
! LY " i
* ;
\1" "\ x !_ i
ki | '
! ' i
v 4 |
\,'.\ ) D5~ | i

32, Whicn af the following, rios reprasents the scale ssedl 1o crease the map?
A lemlGxm - S wWould mean that The st fekw,
BT em 10k s 00 em (10 x 1D hoa)
)4- L vzl f.JIX}k.l11F\-; % weddl mean Hhat Fhe disTercy,
/\‘( L em: 10 GO0 ke Fetenom, e L x& Aes o ke [O
| (o xfoo = 100n)

Seoms whe mesT Rpsoerhly

-

o
\oT ,Pl&l’(@

a0



L5 e futtovsog inforecticn i eorvier gresins A

Friamgiae JRL showes Wndow, nndecgoss the foliuwing rratsforuguns:

« a Q0 clechwise rotation sboul veroes 4
* o Lanstaion of 3 units right ard 4 unils up:

- P b b S —— - - — -

33, Wirich of the: Forlowiug cuwa reocesents e ordered Dalr for each veitey ufler both
e eenslmerions deseribad abuye have buen complaed?

VT R il T
W g AL R
[ I Tetexy
' 1 i3, 4 ; (1,4 : (1,13 i



The foliewing diagiam mpresents 4 balasced mobile,

4.

-&:!,"’ {

= 3 e 14 -
- - & -
LAl o s T 2l
\'im’t' e :

Vaich of the foliowing equations correctly reprosents the melatzon
ohicets shown in the diamram atwe

Use the fallowving isfrrmation o aaswer anesting 3,

ship Detween seme of the



(i sl follmeing information fo augwer guestion 35.

Cuek at the: four siudenrs shown deiow simplifies the folicwing e»:nn:‘:sinnf )
‘h:v{{ou:)
« PEOHAS

4+3x5-6'+id 42 x2
e e

-

% 7
)

| = |

s s |

Stadent 1 Susdens 3 Sial=n 4 !

= 5 .
35, Whizh smdent corractly simplised the ey pression” @ Brockrs: ( 2 = (&) »
; Snei S~ Yo
Ao Student | @ EYP s ‘O% =6 3¢ J:é
Y

oy ALSn ziét,.-'f.ﬁ‘"'."»--,
M. Student 2 s . : ;
o 118 =l @ Mollrp icaTion

Studan: 2

L Sides &‘f" /2': i S
D.  Swdane 4 1 (B aedi,  Gw2=12s
(D S,

I"\ - n
“ N N
s ¥ ag Al

Numerical Res ponse,

,f-f.'-. -
Tuequotiont.of (—12-- 95« Me is —4x - 2. What is e value of B2
=
Answer:

1Recoad yaor ansase ns the MWETANCAresponse w2a1ion o e answer shasy )

€|




Lise the follaving Inforsintion t onver guesiton 16,
X 00se BiggesT
o Y P s S TH
X - e 3.0
Z: . - B.as Smallest

36, Whic el'the Erlowing mequalities revresenss e rationsl nambers shevaro above?

A.

B YeX«Z

e

o Bmily’s cellptana plan charges hor $0.03 per 1ex? fessige, J006 mev minoe of voize usage
yoand = SAAEL base fee coeh inonth.
'

Y &ZeX

Z XY

@ LaY <X

i1 ane mones?

AL
B.
{:l

@o

S5

S6.65
3782
$A47

» 772 AQVe: Nombe s G824 ‘bt@'& hes
Aosea. Yo O %ﬁ L0,

et folipwingr infornution t: answer guextion 17

- -

A% Whatis Emily's cellphone i1 % she sert 55 1580 eessanes sad talked far 47 mintos

Prethly |
Bd] = 0-05 JZE Ji gt o kS
J

2 47

2 0:65(83) fo-06 (47} + & .
5. 324 & = ‘#?'%, J



Use wne foliowing iafrmerion i onswver guestion 38,

.......

' .

.

| - |

L . \
-

T2

l !

)

L

.

)

-

]

- . ‘
W A& iy

: '
IS} e v
I g i |
e

3B, 'The ecuarion repraseating the inesy relation i the soioh shewn zbove is
@ YOS50+ 2 Uge -»J\,Q)
B, y=0b5r=-2 ! L
Co y=2r 14 C&’UPQ 74 gooﬂém-?f?_f oz h@fﬁﬂecﬁ
D p=2x-4 fym i
Jfen
(ﬂﬂ& (9,a) - Dis(BY+ 2 % 2, (0,2)’?
A=/
o I Os5) -2 = -
o ‘-yz 20 = o CO) ('/)
D> =D =1 = -y (g,-9)
\_J/c Q’/S) ‘ A A,/
4— 9= 050 +2 = 2= 5 (¢, 8)7 ’
) (45
2 g=0-5() -2 3-z=1 (6,1)
C5 Ys 2) 4y = 12 +¥= o € 6)16)
D> Y= 26) =4 = s2-9= & (6,8

N
o
0
|
W
(0%

R



(52 the Jolloving informarion 1o answer guestion 39,

=3
l | Eegeud
- § B
: 0= == r = g
| P L J.._—' |
l

|
]
|
]
L

a9, v:. Rich o{f lhco'nllmwnc Folynomials epreasnts the unknown expression in the maodel
v Aoy

Al :.':'.u' o 12 89‘{. E )/ﬁ)mpkf H bﬂX

TN ) BTy

——

&

—> ) ” e /2.‘
H"‘“ LN —X X = %
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(e e Jollowing intormiotiong i anywer guesiion 40

Lithan eonducts @ swrvey o deteneing the deziad for i ouldoor st 12 rink i his
communiiy,
|

- c e ————————— - — —-

40, Fhan can best indmize tha hias in his survey by vollecting data froza peanle who

@ are didferant ages (1, Mmoge varlacs X?ma{’ WOO/ u’@,] .
B, T jo difesznl cliics — &‘M/ (5““"3‘2’7‘3” W@Mﬂf ﬁ;:r “'\fy
C.  participae in ge skating  _3 Biaset! Crf‘efj CoRNT Yo Seadd) %ﬂj
B, st Foovink ar the seme e suck day - M, (pm,q-ég/ m z;dél@
IS G B g afthe samd
T

Lo tie falferaing information fo anyeer nurerical- response gicaron [0,

Panceld wants i buy a sew pair of ice shaies tat ost 3250 inchiding GST. She wlready has
586 sk plass © use ownidis this purchase. She carns $10.25aur ot her o4 1ine ol

Numerivul Response

B *What is the minicang number of hewrs thal she swist work 1o sive cacueh money b aurchase
e oairof 02 skues?

Answer: / honrs

(Revord rouer s i LR nmmsrival-nesnonze seetion e the guswer shae: 1

f)&%; ASO - b s STRET
- 1025 pr nou(
s how yang No €S 2
g ol

250 » Gl +Vlb-25/z
A5V -FC = Jo, 264

164 = I0. 254,

/Y
- z J6. 9
/L{ {D. 45 (i




